Amana DA6073 27 - SUDS-WATER SAVER ASSY

+ ——
'}:‘-\'
W

REFER TO WASHER MODEL AND SERIAL
NUMBERS BEFORE ORDERING SUDS-WATER
SAVER ASSEMBLY PARVS.

PARTS FOR SUDS-WATER SAVER ASSEMBLY
ARE SHOWN ON PAGES 28 through 33.

SUDS-WATER SAVER ASSEMBLY

(Starting with Serinl Nos. 239B8619 for Model DAS043
and 238G7075 for Models DA6223 and DA&073,

and Medels FA9103 and DA9103}

Click on the part number to view part

24575 Not Available
20210 Not Available
'Y00000000 Not Available
20492 M0270504

21081

02928 Not Available
'Y00000000 Not Available
20118 Not Available
21080 Not Available
22355 Not Available
22356 WR71X10754

Y22671 Not Available
21086 Not Available
Y03698 Not Available
25782 Not Available

Amana Residential Amana DA6073 Washer Parts Parts Diagram 27 - SUDS-WATER SAVER ASSY

NO LONGER AVAILABLE
NO LONGER AVAILABLE

SEE NOTE PUMP
ASSEMBLY

Washer

Screw, 10-24 X 1/2 RD H
WASHER

SEE NOTE DRAIN TUB
GROMMET, 1982 INV

NUT

RETURN HOSE SUPPORT
Shelf Front All White 22356 |
HOSE CLAMP

CODE J

CLAMP xREPLACE

PUMP OUTLET RETURN
HOSE


http://www.pwslaundry.com/c-501205-residential-amana-da6073-washer-parts-for-repair-service
http://www.pwslaundry.com/i-10396049-amana-m0270504-washer-dryer-washer.html
http://www.pwslaundry.com/i-10394113-amana-21081-washer-screw-10-24-x-1-2-rd-h.html
http://www.pwslaundry.com/i-10396684-amana-wr71x10754-washer-shelf-front-all-white-22356-i.html

16
17
18
19

20

21
22
23
24
25
26
27
28
29
30
31
32
33

51784

'Y00000000

21372 21-372
26052

Y10530

23222 3177991
25839
02431
02422
25779
26053
23848
23845
23560
23553
20211 285655

22627 33-7806N

20240

Not Available
Not Available

Not Available

Not Available

Not Available

Not Available
Not Available
Not Available
Not Available
Not Available
Not Available

SCREW,10B-16 X 1/2 HEX
SEE NOTE CHASSIS
Sampling Tube
VALVE-TO-PUMP HOSE

MOTOR AND PUMP
ASSEMBLY

Screw

SHIELD

Lockwasher, 1/4 Ext Shk
Screw, 1/4-20 X 1/2 HeX
MOUNTING BRACKET
SHIELD

VALVE
TEE-TO-ELBOW HOSE
BRACKET

ELBOW,DRAIN HOSE-PLAST

Clamp, Hose
Seal Assembly
Hose, M/F 29219


http://www.pwslaundry.com/i-10396685-amana-21-372-washer-sampling-tube.html
http://www.pwslaundry.com/i-10396525-amana-3177991-washer-dryer-screw.html
http://www.pwslaundry.com/i-10392863-amana-02431-washer-dryer-lockwasher-1-4-ext-shk.html
http://www.pwslaundry.com/i-10394083-amana-02422-washer-dryer-screw-1-4-20-x-1-2-hex.html
http://www.pwslaundry.com/i-10396448-amana-285655-washer-clamp-hose.html
http://www.pwslaundry.com/i-10396429-amana-33-7806n-washer-seal-assembly.html
http://www.pwslaundry.com/i-10393929-amana-20240-washer-hose-m-f-29219.html

	Amana DA6073 27 - SUDS-WATER SAVER ASSY

